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1. State whether or not the following triangles are similar and support your answer.
L ¢ (OOQ\S (7 B E
N T
et AR ) A
O
35 10 g el
A C

2. (i) Determine if the triangles below are similar, and explain how you know.
(ii) Find the lengths of the missing sides.
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o . Looking at the triangles in the fi ;
3 Assuming the two triangles are similar, find the 4. Looking at the triangles in the figure below
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adow 1.8 meters long.
5. Tonyais 1.3 meters tall. She stands 7 meters in front of a tree and casts a sh

tall is the tree?
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,ter Quiz Practice with Triangles

1. Intriangle ABC, m£A=x°, msB = (x + 10)°, and m£C = (3x + 20)°. Findthem
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2. In triangle DEF, m<E = (x + 10)°, m«D = (3x + 30)°, and mF = (5x + 50)°. Find the mZF.

3. The measure of each base angle of an isosceles triangle is 20°. Find the measure of the vertex angle.
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4. Two angles of a triangle are equal in measure and the third angle is 110°.

of degrees in each of the two equal angles. ®)
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Find the number

5. Triangle ABC is an equilateral triangle. Fill in the measure
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6. Find the measure of LA, if £C is a right angle and m<£ABD = 130°:
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" InAABC, AB = CB and m~CBD = 124°. Find the m.ZA. 5 ‘a\.\
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8. IN AABC, m~<BCD = 100° and m<BAC = 35°. Find the mB.
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9. Inlsosceles AABC, AB = AC, m_< = (6x + 10)°

and m<ABC = (3x + 40)°. Find the
measure of the exterior angle ZDBC.
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